
Exercice type sur les droites 

	

	

Énoncé	

Soient	𝐴(𝑥!; 𝑦!)	et	𝐵(𝑥"; 𝑦")	deux	points	du	plan	rapporté	à	un	repère	orthonormé	

(𝑂; 𝚤, 𝚥).	

Déterminer	une	équation	de	la	droite	(AB).	

	

	

Résolution	

Soient	𝐴(𝑥!; 𝑦!)	et	𝐵(𝑥"; 𝑦")	deux	points	du	plan	rapporté	à	un	repère	orthonormé	

(𝑂; 𝚤, 𝚥).	

Déterminons	une	équation	de	la	droite	(AB).	

	

	
	

Le	point	de	départ	du	raisonnement	est	la	phrase	ci-dessous	

Pour	tout	point	M(x	;	y)	du	plan,	dire	que	M	appartient	à	la	droite	(AB)	revient	à	dire	

que	𝐴𝑀PPPPPP⃗ 	et	𝐴𝐵PPPPP⃗ 	sont	colinéaires.	

	

L'utilisation	du	connecteur	logique	Û	s'avère	ici	très	utile	pour	une	articulation	souple	

du	raisonnement	:	

	

Pour	tout	point	M(x	;	y)	du	plan,	MÎ(AB)	Û	𝐴𝑀PPPPPP⃗ 	et	𝐴𝐵PPPPP⃗ 	colinéaires	Û	𝑑𝑒𝑡W𝐴𝑀PPPPPP⃗ , 𝐴𝐵PPPPP⃗ X = 0	

Û	[
𝑥 − 𝑥! 𝑥" − 𝑥!
𝑦 − 𝑦! 𝑦" − 𝑦![ = 0	Û	(𝑥 − 𝑥!)(𝑦" − 𝑦!) − (𝑥" − 𝑥!)(𝑦" − 𝑦!) = 0.	
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En	développant	cette	expression,	nous	obtenons	une	équation	de	la	droite	(AB),	c'est-à-

dire	une	relation	à	laquelle	satisfont	l'abscisse	et	l'ordonnée	de	tous	les	points	de	la	

droite	(AB).	


